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AN GEIEY
MY ANBSAE P
el FHBSAE Oy 1S CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
=0 ESAE 23| 441,055 257,535 183,520
J| 308,738
Al 132,317
307 gl2tol & 441,055 257,535 183,520
J| 308,738
Al 132,317
10 AL SXNAIEEE2EH EX 441,055 257,535 183,520
O8=Z=8Iaiit EsAE 24| 441,055
J| 308,738
Al 132,317
SEZd0oHAd ESAIE Hl== A dAHH S 13,522 13,522 0
J| 13,522
301 LEAZ 13,522 13,522 0
J| 13,522
01 MEIBZE 05z 13,522 13,522 0
Od=ZUaik E2ESAE 8l=3X 4AHH S 13,522
J| 13,522
S=ZLIciA ESAE Xgss 2208 14,950 14,950 0
J| 10,465
Al 4,485
307 21201 A 14,950 14,950 0
J| 10,465
Al 4,485
11T M3 SXAISEEX 14,950 14,950 0
Od=8Idikt ESAE XNgsl=sxz0H 14,950
J| 10,465
Al 4,485
dEZH0HA ESAE 2 2 2HEHl 2,000 2,000 0
J| 1,400
Al 600
307 gl2tol & 2,000 2,000 0
J| 1,400
Al 600
11T M SXAISE EX 2,000 2,000 0
O&=dIloHAt ESAIE 2=2H ¥ 2tEH] 2,000
J| 1,400
Al 600
A=A ESAAE JIsE2AY 3,240 453,800 A 450,560
J| 1,620
Al 1,620
402 RIZER20l ™ 3,240 453,800 A 450,560
J| 1,620
Al 1,620
02 RIZEXt 2 AL EZ (01X TS ) 3,240 453,800 A 450,560
O&=YIoHA ESAIE JIsE22AY 3,240
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AN BSAIE P8
FHBEAS Ol 1E (B9 ®R)
- _ _ RE]
S EHE . (BH) - NEAY - BAS %Eﬁ HR=2
Pl 1,620
Al 1,620
SOHOHIIGH KF KIRAIE 29H| 538,580 538,580 0
J| 377,006
Al 161,574
307 2Iz2t0| A 538,580 538,580 0
J| 377,006
Al 161,574
10 MM SXANEEHESIGHEX 538,580 538,580 0
OXOHOHII o A KIS AIE 2HH| 538,580
J| 377,006
Al 161,574
SOHOHIIOH K K RAIAE XX A 68, 186 68, 186 0
J| 47,730
Al 20,456
307 giztol A 68, 186 68, 186 0
J| 47,730
Al 20,456
11T A EXAIEEX 68, 186 68, 186 0
OXOHOHIIGHAF KIEAIE R2EXSAS 68,186
J| 47,730
Al 20,456
SOHOHIIGH A KIRAIE JIsE2ZAIY 424,400 0 424,400
J| 212,200
Al 212,200
402 SI2vXHE0| ™ 424,400 0 424 400
J| 212,200
Al 212,200
02 CIZtXIE A E X (0| XM THH) 424,400 0 424,400
OHSOHOHIGHAF XIRAIE JIsE2AY 424,400
J| 212,200
Al 212,200
Zd0o 0IFHAE ESAE 29X 157,952 157,952 0
J| 110,566
Al 47,386
307 2I2H01 & 157,952 157,952 0
J| 110,566
Al 47,386
10 MM SAANEEHESIGHEX 157,952 157,952 0
OZdIol OlIFE ESAE 29| 157,952
J| 110,566
Al 47,386
Z2T|oH O|F0HAE BESAE JIsELAY 5,500 6,000 A 500
J| 3,850
Al 1,650
402 12t XHE0| ™ 5,500 6,000 A 500
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M FHBEAE P
Ce: TS AIG DBt 2F (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
Jl 3,850
Al 1,650
02 DIZFXIE2AIE E X (0IETHE ) 5,500 6,000 A 500
OZ=Ilol 0IF=0d ESAIE JIsE22AY 5,500
Jl 3,850
Al 1,650
=AM 010 2BAL AT VXA 10,000 0 0,000
Jl 10,000
301 dEtE X = 10,000 0 10,000
Dl 10,000
01 A B & A 435 2 10,000 0 10,000
OZ&I0d 0= ESAIE AKX MNEXNA
= 10,000
J| 10,000
e ZSTNA KNAIE SXSEH| 99,455 99,455 0
Al 99,455
307 212t0| & 99,455 99,455 0
Al 99,455
10 AIRIEXAIEEE2IGHIEX 99,455 99,455 0
OdZHTal X XNJAE SXNSE 99,455
Al 99,455
HEAE =X MHAH= 180,456 180,456 0
= 162,410
Al 18,046
301 dBtEX =2 180,456 180,456 0
= 162,410
Al 18,046
01 MSIEEE 262 180,456 180,456 0
OWAANE =32X MAHAZA 180,456
= 162,410
Al 18,046
Ols - dtEXFHU 29 7,000 3,500 3,500
Al 3,500
- 3,500
201 et A | 5,000 3,500 1,500
Al 2,500
- 2,500
01 At 22l ] 5,000 3,500 1,500
O0ts - 8ot Xl &9 5,000
Al 2,500
- 2,500
301 dEtE X = 2,000 0 2,000
Al 1,000
- 1,000
12 JIEtE &2 2,000 0 2,000
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X ZH -
L= B

el

A - HE B (3A) - HRAY - B Ol &t o San HmEET

O&L=oIS 210,000
ol | PIE 100,000& 600 60,000
- SMAH 200,000 *400H 80,000
— KOl & 700,000& x100H 70,000

EM2E KNS 115,000 137,000 A 22,000
Al 115,000

301 LeEBAF 115,000 137,000 A 22,000
Al 115,000

01 Mel28E 6= 115,000 137,000 A 22,000
OsESE NA=S 115,000
Al 115,000

S4EY MY 29 22,000 1,900 20,100

201 Yet2 | 17,000 1,900 15,100

01 At 2t 2l 2,000 1,900 100
O=sdtE 222 MH S 1,000
Og - Mg gd suz2s F3H 1,000

03 A2 Z Hl 15,000 0 15,000
OJ=EeUEINHE 3l 15,000

301 LEPEXF 5,000 0 5,000

09 HALAHIXI &3 5,000 0 5,000
ONE2ANEIHE THE 5,000

TS&w Yst=st3 158,000 165,824 AT,824
Al 158,000

301 LA F 158,000 165,824 AT,824
Al 158,000

01 AR 2Z A 53 158,000 165,824 AT,824
Oxssuw dst=st3a 158,000
Al 158,000

SR R2IIE Ots2=sHl K& 1,131,890 1,131,890 0
J| 905,512
Al 226,378

301 EHZ 1,131,890 1,131,890 0
J| 905,512
Al 226,378

01 MEI2EZE +05l= 1,131,890 1,131,890 0
Ost=R2II=E ots2d=sdl S XA 1,131,890
J| 905,512
Al 226,378

FAH REIE Ols2d=EH S HEXNZ 23,711 23,711 0
J| 18,969
Al 4,742

301 LEXS 23,711 23,711 0




2N

X{ XH -
S =

@ E=EX A (&)
SA - BB B () - MM - BES Ol &t o San HmEET

Jl 18,969
Al 4,742

01 MEI2BZE+06l= 23,711 23,711 0
O&AY SIR2IHE OtsL=H S N 23,711
J| 18,969
Al 4,742

SIR2ItE ItHWS K& 163,400 163,400 0
Al 163,400

301 LA F 163,400 163,400 0
Al 163,400

01 AR 2Z A5 3 163,400 163,400 0
Onssd W=l 18,600
Al 18,600
O&dA4E wsEHl, =S&d 83| 144,800
Al 144,800

SRNNE AN F=AHAXA 7,270 7,270 0
Al 7,270

301 LetBA S 7,270 7,270 0
Al 7,270

01 MEIBEE 5= 7,270 7,270 0
ORXI=E Xg F=AHAXNE 7,270
Al 7,270

Mot 2205 N T8 29 XA 7,000 7,000 0
Al 7,000

307 21201 A 7,000 7,000 0
Al 7,000

11T A SRAEE = 7,000 7,000 0
OMIt et220t= X Z20dH 29 7,000
Al 7,000

Otol=s K& 2,281,260 2,281,260 0
= 1,596,882
Al 684,378

307 glz2tol & 2,281,260 2,281,260 0
= 1,596,882
Al 684,378

11T M SRAISE EX 2,281,260 2,281,260 0
OO0t0IEE NEAY 2,281,260
= 1,596,882
Al 684,378

OtolE=sHGHII XA 9,156 0 9,156
Al 9,156

307 21240 & 9,156 0 9,156
Al 9,156

11T MISAASEX 9,156 0 9,156




2N

HE: 2% o O15 N
Sel: JIE=T S CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Ootol=sH6t I K& A 9,156
Al 9,156
22018 2 U2HEXNJAEH 29 203,800 203,800 0
J| 101,900
Al 50,950
T 50,950
307 21201 A 203,800 203,800 0
J| 101,900
Al 50,950
T 50,950
10 ALSISXAIEEE2EHEX 203,800 203,800 0
OAdZIE 4 U2 tEXNJHH 29 203,800
J| 101,900
Al 50,950
T 50,950
s=a0us 23 22,162 22,163 A
2l 15,513
Al 6,649
307 gl2tol & 22,162 22,163 A
J| 15,513
Al 6,649
11 AL S XAEE = 22,162 22,163 A
Ost=0 ns =249 22,162
J| 15,513
Al 6,649
2 ¢ HeolE XA 35,731,337 35,634,918 96,419
= 19,627,325
Al 13,455,112
T 2,648,900
2] AgY =& 3,700 4,100 A 400
201 24l 2,300 2,700 A 400
01 At 22l 2,300 2,700 A 400
OEsAtY ot X+ M= 10,000& » 120 1,200
OMEAH HRuw=s WM M=
10,000& 100 1,000
OSSR 7 849 K 100
203 YR =&l 900 900 0
03 AIMF=XH R =AH| 900 900 0
OBSALYS AIH#Z=2 1,000,000& *90% 900
301 LPEXZ 500 500 0
12 JIEE 4= 500 500 0
OE=s uid MR W=x 500
EFWEPA olAH XA 4,468,326 4,086,316 382,010
= 2,680,995




AN GEIEY
Hu: 28 9 JIE X¥
Sl 28 Y 0R0E X CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 1,251,131
T 536,200
307 glz2tol & 4,468,326 4,086,316 382,010
= 2,680,995
Al 1,251,131
T 536,200
10 ALSISXAIEEE 22X 4,468,326 4,086,316 382,010
ESNEA QA 4,468,326
= 2,680,995
Al 1,251,131
- 536,200
OEols 2SI XNA(HMHOIMZ HEO0IE HHEF2HH!) 3,600 2,229 1,371
= 2,160
Al 1,008
- 432
307 21201 A 3,600 2,229 1,371
= 2,160
Al 1,008
- 432
10 ALSISXAIEEER2IHEX 3,600 2,229 1,371
ool 2g XN (Huotd2 ooy
2e) 3,600
= 2,160
Al 1,008
T 432
=38 Hgold XA 846,287 600,401 245,886
= 507,797
Al 236,943
- 101,547
307 21201 A 846,287 600,401 245,886
= 507,797
Al 236,943
T 101,547
10 ALSISXAIEEE2IHEX 846,287 600,401 245,886
O&s28 ogold XA 846,287
= 507,797
Al 236,943
T 101,547
B3 F&Y 2,730 1,540 1,190
201 £B-2d| 2,730 1,540 1,190
01 At 22l 2,730 1,540 1,190
OE=<Id3 3o #4444
70,0003 »13H 32 2,730
Helold 2gXd(Helold WiHw-Hl) 46,097 55,384 A9,287
= 27,658
Al 12,907
- 5,532




M HEIIED
Hu: 28 9 JIE X¥
Sl 28 Y 0R0E X CERED
(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
307 2Iztol ™ 46,097 55,384 A9,287
= 27,658
Al 12,907
- 5,532
0 A SXANEEHER2IHEED 46,097 55,384 NQ,287
O0gold 2gXA(oeold Hwdl) 46,097
= 27,658
Al 12,907
- 5,532
e 22 ALY 4,381,867 4,806,303 AN 424,436
= 3,286,401
Al 766,827
T 328,639
301 LEXZ 4,381,867 4,806,303 AN 424,436
= 3,286,401
Al 766,827
T 328,639
01 A EE E 563 4,381,867 4,806,303 A 424,436
Otges=g i 4,381,867
= 3,286,401
Al 766,827
T 328,639
oeloly & - =gl K& 76,930 76,080 850
307 21201 A 76,930 76,080 850
10 M2 SXNANEHE2IHEX 76,930 76,080 850
Ooogold ¢ - eyl XA 76,930
drotEszg A& 15,242,831 15,824,621 A 581,790
= 11,432,123
Al 2,667,496
T 1,143,212
301 LEAZ 15,242,831 15,824,621 A 581,790
= 11,432,123
Al 2,667,496
- 1,143,212
01 MEIBEZE 06z 15,242,831 15,824,621 A 581,790
O02M 252 & X 15,242,831
= 11,432,123
Al 2,667,496
T 1,143,212
HEOOH Zlt:s Es& 153 223 AT0
Al 135
- 18
301 LPENF 153 223 AT0
Al 135
T 18
01 A EE E 2563 153 223 AT0




M 08I ED
Hu: 28 9 JIE X¥
©e: 28 2 oYY X CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2
OHl&Eoo s Eg2 153
Al 135
- 18
BENANA QM XN (RAI2REHIHEH]) 1,312,193 1,284,153 28,040
= 787,317
Al 367,415
- 157,461
307 QI2t0| ™ 1,312,193 1,284,153 28,040
= 787,317
Al 367,415
- 157,461
10 A SAANEEHESIGHEX 1,312,193 1,284,153 28,040
EESNA2 MM XN (DAI2LEHNA
Hl) 1,312,193
= 787,317
Al 367,415
- 157,461
22 2UHE S 2F4| 6,780 4,480 2,300
= 3,390
Al 1,695
- 1,695
201 2Et24Ay| 6,780 4,480 2,300
= 3,390
Al 1,695
- 1,695
01 AP 2t 2] d| 6,780 4,480 2,300
28 DLUHEH 2dH| 6,780
= 3,390
Al 1,695
- 1,695
AMZHRHIESAE A H2XH 114,776 116,536 AN 1,760
= 57,388
Al 28,694
- 28,694
307 2Iz2t0| & 114,776 116,536 N 1,760
= 57,388
Al 28,694
- 28,694
10 M SXANEEHESIHEX 114,776 116,536 A 1,760
OAZINES HZ2J1& X 114,776
= 57,388
Al 28,694
- 28,694
E2WXN2A HRAMA XN (EZWA 21 AHHl) 1,361,323 1,190,952 170,371
= 816,794
Al 381,170
- 163,359




M HEIIED
LRGP
Sel: B8 2 A0Y X (S &2)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
307 2Iztol ™ 1,361,323 1,190,952 170,371
= 816,794
Al 381,170
= 163,359
10 MBI ZRALHE 22U B 1,361,323 1,190,952 170,371
OS2SR H2MH NA(SFDA 212H) 1,361,323
= 816,794
Al 381,170
- 163,359
Helold &8 A M= X 86,100 62,000 24,100
307 2I2t0l A 86,100 62,000 24,100
10 ALSISXAIEEE2EHEX 86,100 62,000 24,100
Oogold g3 =S4 M=l 86,100
CI3~5AMI0 el HE BEsE 5,773,066 5,990, 248 A217,182
Al 5,773,066
301 LENF 5,773,066 5,990,248 A217,182
Al 5,773,066
01 Al EE X =56l = 5,773,066 5,990,248 A217,182
OBS3~5M0t FelHd 282 XA 5,773,066
Al 5,773,066
ragsz X 770,588 162,342 608, 246
Al 770,588
301 LEMZ 770,588 162,342 608,246
Al 770,588
01 A3l EE E 56l = 770,588 162,342 608,246
OHEMNASES MHEESZE X 35,256
Al 35,256
OOXEIE HtuEsg K& 65,059
Al 65,059
Ol MHHESZ XS 156,847
Al 156,847
OFMoOtol tuEsz XA 513,426
Al 513,426
FREXNFAAHE 0 23 9,000 9,200 A 200
Al 9,000
307 212+0| & 9,000 9,200 200
Al 9,000
10 M2 SXNANEHES2IHEX 9,000 9,200 A 200
OFRXNANEOE &2l 9,000
Al 9,000
ZUHEROIMHE0IE ESWA E222H 25,200 25,200 0
Al 25,200
307 glz2tol & 25,200 25,200 0




M HEIIED
LRGP
Sel: B8 2 A0Y X (ol @)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Al 25,200
10 M SXNANEEHE2IHE=x 25,200 25,200 0
OZMHEROIME0IE ESNA S22 25,200
Al 25,200
Helold d&sts 2 23 A 50,800 55,000 24,200
Al 50,800
307 21201 A 50,800 55,000 24,200
Al 50,800
1A S XA E X 50,800 55,000 24,200
O0eold &sts & St A 50,800
Al 50,800
238 a0l =c2/& olzdl X& 54,000 46,800 7,200
Al 54,000
307 gl2tol & 54,000 46,800 7,200
Al 54,000
10 M2 SXNANEHI2IHEXR 54,000 46,800 7,200
O3380eold =eld el 54,000
Al 54,000
BESWNA HRML (SR =) 757,850 830,000 AT2,150
Al 757,850
307 glz2tol & 757,850 830,000 AT2,150
Al 757,850
10 M ZXNANEHI2IHE=X 757,850 830,000 AT2,150
OESUAE MM (E2X=Y) 757,850
Al 757,850
OFZAEI0IE ZclAE 29 AL | 1,106 810 296
Al 1,106
307 21201 A 1,106 810 296
Al 1,106
10 ALSISXAIEEE2FHEX 1,106 810 296
OO0t e old 22lA28 2% AL HI 1,106
Al 1,106
22k, JIENE 0l BEsuA BI1252Y 43,000 15,000 28,000
Al 43,000
307 gl2tol & 43,000 15,000 28,000
Al 43,000
10 M3 SXNANEHIS2IHEX 43,000 15,000 28,000
OglzZt, JIE0E 0 BEFWA BII2852H 43,000
Al 43,000
oHeold JIsea 50,604 0 50,604
= 25,302
Al 12,651
T 12,651




M 08I ED
Hu: 28 9 JIE X¥
Sl 28 Y 0R0E X CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2
402 SI2FXHE0| M 50,604 0 50,604
= 25,302
Al 12,651
- 12,651
02 CIZEXIE A EX (0| XM THL) 50,604 0 50,604
O0elold dX=EAAE &H|H| 50,604
2 25,302
Al 12,651
5 12,651
HEXNKFNHEO0IE ESUWAI EXE 18,000 18,000 0
Al 18,000
307 QI2t01 & 18,000 18,000 0
Al 18,000
10 MM SAANEEHESIHEX 18,000 18,000 0
OFEXNS Eold E20A EX4=¢ 18,000
Al 18,000
HR0INSORIO0IE Zela el 66,000 195,000 129,000
Al 66,000
307 2I2t0| & 66,000 195,000 A 129,000
Al 66,000
10 AISIEXAIEEHE2IHIEX 66,000 195,000 A 129,000
OXFB20XNEHE0IE Zeld! orAHdl AFY 66,000
Al 66,000
00 SYe 2gX 158,430 0 158,430
Al 158,430
307 2iz2to| & 158,430 0 158,430
Al 158,430
10 M SXAANEEHESIGHEX 158,430 0 158,430
O0elold s 21 158,430
Al 158,430
Ols - 344 Al B3 281,514 136,732 144,782
= 135,514
Al 92,120
- 53,880
Ol - 3449 B 2 &0 281,514 136,732 144,782
= 135,514
Al 92,120
- 53,880
ofs - 3449 E=X4 30,340 21,850 8,490
201 LBt 9| 25,990 18,000 7,990
01 AP 22| d| 3,490 3,000 490
O0ts - 8344 & X8 & g2 28 P 3,000
OOISHBCAZASAAS 22 slA&M%
70,000 *7H *13] 490
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Ols - dA4E el B2
OS - H2aE 25 L &0 CER-ED
= - 4 14
SA - H .G (3AH) - MBAY - BES %Eﬁ HR=2
05 QIZtR E 2 13,140 0 13, 140
OtUEsNss8HE 2124d| 13,140
= 6,570
Al 6,570
Cetl S22 A (A& XIdl) 143,394 67,000 76,394
= 93,394
Al 50,000
401 Al HI L £ 0HHI 105,000 50,000 55,000
= 55,000
Al 50,000
01 Al& H| 105,000 50,000 55,000
OUEN=sHE 2l22 105,000
= 55,000
Al 50,000
405 XHo&HF S HI 38,394 17,000 21,394
= 38,394
01 XA 2 FF S| 38,394 17,000 21,394
OtUsN=s=sHdEH 23+ 38,394
= 38,394
CIetHl S22 A (29Hl) 18,640 8,000 10,640
= 2,700
Al 2,700
- 13,240
201 LBt | 8,740 6,000 2,740
= 2,250
Al 2,250
2 4,240
01 AP 22| d| 8,740 6,000 2,740
OUetHN=s84HdE 29| 6,900
= 2,250
Al 2,250
- 2,400
OEMNHIIEsS SAIY 244 1,000
OXs=sg2dHd o & =
70,000 *6H *23] 840
301 et A =2 2,000 2,000 0
12 JIEtE2 A= 2,000 2,000 0
OUgtNessHdy T2 2AIE 2,000
307 QI2t0| & 7,900 0 7,900
= 450
Al 450
5 7,000
05 QIZtREZ 7,900 0 7,900
OUsN=sHE 29| 7,900
= 450




M 0{8IIED
BE: 05 Had Hel 23
el OIS - BAUW ©5 2 FO (S &2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
N 750
- 7,000
FHo N OlS 25 18,836,781 17,311,173 1,525,608
2 9,894,397
9] 171,214
Al 7,899,802
- 871,368
NEAE Olse HENE 4 13,503,319 11,950,766 1,552,553
= 9,405,269
J| 64,854
Al 3,162,808
- 870,388
lAOlE JI=E XK (¢s4d) 61,200 61,200 0
J| 42,840
Al 18,360
301 LBt N = 61,200 61,200 0
J| 42,840
Al 18,360
01 Al E & A %52 61,200 61,200 0
OgAots s I 61,200
J| 42,840
Al 18,360
Qlokols JIE X (HHots ¥4 20,248 19,336 912
p] 14,174
Al 6,074
301 et A =2 20,248 19,336 912
p] 14,174
Al 6,074
01 Al E & A 462 20,248 19,336 912
OF¥YLols = N 20,248
Jl 14,174
Al 6,074
i JIEQEOsS AelxEs KN 5,300 1,000 4,300
= 3,710
Al 1,590
301 LBt M3 5,300 1,000 4,300
= 3,710
Al 1,590
01 M EXEE 2562 5,300 1,000 4,300
Oge - I3 Eots delxz X 5,300
= 3,710
Al 1,590
ek =512 XN 3,000 3,000 0
Al 3,000
301 et A= 3,000 3,000 0
Al 3,000




SN &R

B HoE Ol B3
S KNS Ols2e HANE =4
S HD B (SH) - NRAY - BAS O 4t o8 il

01 M BEEESG2 3,000 3,000
Ogex=dl=a X 3,000
Al 3,000

YAOLS IHE KB (YY=2AII2 2 NH) 2,100 2,100
Dl 1,470
Al 630

301 deEtE X = 2,100 2,100
Jl 1,470
Al 630

01 M3 EXEE G2 2,100 2,100
Oget=4I|2t DX K& 2,100
Jl 1,470
Al 630

lAOIE JI=E X (YAH ) 9,100 9,100
Dl 6,370
Al 2,730

307 212t0| & 9,100 9,100
J| 6,370
Al 2,730

11T A SXAIE EX 9,100 9,100
ogaHE N 9,100
Dl 6,370
Al 2,730

Ho gist=z OS24 XS 628,453 628,453
Al 471,340
- 157,113

307 QI2t01 ™ 628,453 628,453
Al 471,340
- 157,113

11 AMISAAEE X 628,453 628,453
OEY, &= otsa3a X3 628,453
Al 471,340
- 157,113

£, 25 ots324aXH 129,030 129,030
Al 129,030

307 212+0| & 129,030 129,030
Al 129,030

11 A EXNAEE X 129,030 129,030
OE,Z25Y Ol=s=24 XN 129,030
Al 129,030

VEENETEY 980 980

201 LBt A H| 980 980

01 At 22l ] 980 980




SN &R

B FHo)E O 25
@2 XA ots2 2HE |4 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
SIEErEEEIEECEEE]
70,0003 +x7H %23 980
JIHE A& Ot = Kl & 63,000 90,000 A 27,000
Al 63,000
301 LeIEBAF 63,000 90,000 A 27,000
Al 63,000
01 MI2EZE+06l= 63,000 90,000 A 27,000
OJtEEOtsS A& 63,000
Al 63,000
A2EAHIE I RE AME0s atsE3a N3 42,000 42,000 0
Al 42,000
301 LEAZ 42,000 42,000 0
Al 42,000
01 MEIEBEZE 06z 42,000 42,000 0
OAEAUIIE IESE ALOIE HASE2
X 42,000
Al 42,000
AEAEHIE I RIE AME0ts HEEEZ N3 80,000 80,000 0
Al 80,000
301 LEEAZ 80,000 80,000 0
Al 80,000
01 MEI2EZE+06l= 80,000 80,000 0
OLEAUWIIE JIHA ALOIE HYUBHI
PR 80,000
Al 80,000
2sEI0s NE+E 158,400 97,200 61,200
= 126,720
Al 31,680
301 EEMZ 158,400 97,200 61,200
= 126,720
Al 31,680
01 Ml2EZE 06z 158,400 97,200 61,200
OEsEg0ts XHEgs+Y 158,400
= 126,720
Al 31,680
Ot=s < <RI H & 224,570 209,649 14,921
= 157,199
Al 67,371
301 LEAS 224,570 209,649 14,921
= 157,199
Al 67,371
01 MEIBEE 063 224,570 209,649 14,921
OLIgMESEINEH 224,570
= 157,199
Al 67,371




AR GRS =

HE: HANUS OIS B35
e XA olse HAEs &4 (2 &HH)
4
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

XNEotsHdEH 294 A3 929,640 870,840 58,800
= 464,820
Al 464,820

307 2Iz2t0| A 929,640 870,840 58,800
= 464,820
Al 464,820

10 M SXNAEEHESIGHEX 929,640 870,840 58,800
OXY90ots4dH 2¥9d XA 929,640
= 464,820
Al 464,820

ELX2XME NN2E0tsHdH FOHARH 51,156 51,156 0
= 25,578
Al 25,578

307 giztol & 51,156 51,156 0
= 25,578
Al 25,578

10 A SAANEEHESIGHEX 51,156 51,156 0
OEx==28d XN& 51,156
= 25,578
Al 25,578

EQ2Y XOISHE =X 2 25,536 25,536 0
= 12,768
Al 12,768

307 Q12t0| & 25,536 25,536 0
= 12,768
Al 12,768

10 AISI EXAIEEHE2IHIEX 25,536 25,536 0
OERSY < 25,536
= 12,768
Al 12,768

22 XNEotsSHE XN 34,698 34,698 0
= 17,349
Al 17,349

307 2Iz2to| & 34,698 34,698 0
= 17,349
Al 17,349

10 MM SXAANEEHESIGHEX 34,698 34,698 0
O2x=XNd90tsHEe X 34,698
= 17,349
Al 17,349

oOt=E=2X WA AKX 206,532 203, 108 3,424
= 98,316
Al 98,316
- 9,900

101 21 21d| 206,532 203, 108 3,424
= 98,316
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A OIS

B FHo)E O 25
ol XIGASl OOl A B4 (el @2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2

Al 98,316
- 9,900

04 JIZtHI22XNSE S 206,532 203, 108 3,424
OO0ls=S XA 212A4H X& 196,632
= 98,316
Al 98,316
OO0l== XA EXZAE 3,300
OO0tsEXN WA HEANWS 6,600

XNE0otsHEE SAHAF HIH&HI 85,600 73,984 11,616
Al 67,000
- 18,600

307 212t0| & 85,600 73,984 11,616
Al 67,000
- 18,600

10 AIRISEXAIEHE2IHIEX 85,600 73,984 11,616
OXNGOotsHEH SALA HSIH&HI 67,000
Al 67,000
OANEZ, MESZ2XIAF XA Y| 18,600

XNE0otsdy T X3 31,800 29,970 1,830
Al 31,800

307 2I2t0| & 31,800 29,970 1,830
Al 31,800

10 Al SXAIEEE2IHIEX 31,800 29,970 1,830
OX<E0otsHdyH T2 2] A& 31,800
Al 31,800

HNE=8 XNYGotsdeH 898 XA 15,600 7,800 7,800
Al 15,600

307 QI2t01 ™ 15,600 7,800 7,800
Al 15,600

10 Al SXAIEEE2IHIBX 15,600 7,800 7,800
OME=sE8 XNY0lsHdE &9 15,600
Al 15,600

NEotsdE Hte 29 X 4,750 4,785 A 35
Al 4,750

307 212t0| & 4,750 4,785 AN 35
Al 4,750

10 AIRIEXAIEEHE2IHIEX 4,750 4,785 AN 35
OXNG0tsHH Hte 24 XA 4,750
Al 4,750

EAMMIIIE 29H| K& 4,528 4,617 A 89
Al 4,528

201 LBt A H| 4,528 4,617 A 89
Al 4,528




2N

P IlE=n}

HE: HANUS OIS B35
Sol: XIAS OtSQ X §4 EERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
02 3322l 4,528 4,617 A 89
OE4&NMIIIE 294 N 4,528
Al 4,528
ANEotsdEe &3Ha8l XA 80,000 90,000 210,000
= 40,000
Al 20,000
T 20,000
307 21201 A 80,000 90,000 A 10,000
= 40,000
Al 20,000
T 20,000
10 ALSISXAIEEE2EHEX 80,000 90,000 A 10,000
OX<gotsdH &3 XI& 80,000
= 40,000
Al 20,000
- 20,000
NGotsdE 2 MU 3,000 3,000 0
201 Let24d] 3,000 3,000 0
03 &AL Z Hl 3,000 3,000 0
OXYotsdH A M= 3,000
ANEotsd A 560 560 0
201 LBH2Z| 560 560 0
01 At 2t 2l 560 560 0
OXZGotsdH?IAS 3o & 560
FHAHNE OlsSEMEIA XA 182,854 179,000 3,854
= 130,284
Al 16,285
T 36,285
201 Let2d ] 152,614 140,840 11,774
= 106,092
Al 13,261
T 33,261
01 At 22l 142,152 129,418 12,734
OEEARE T2 29 108,952
= 87,162
Al 10,895
- 10,895
OssXd =28 22 20,000
OEEAEE dH 29 2,000
= 1,600
Al 200
- 200
OEYAEE A S W= 2,500
= 2,000
Al 250
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SN &R

HE: HANUS OIS B35
@2 XA ots2 2HE |4 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
- 250
OESAEERIRAS ST 1,300
= 1,040
Al 130
- 130
OEHAERE 822 M 6,400
= 5,120
Al 640
T 640
OEZAEE SEIFEANAE S22 1,000
=2 800
Al 100
- 100
02 232gHl 7,462 8,422 A 960
ORERa, dIIe=a 8 222 5,462
= 4,370
Al 546
T 546
OXt&Es 2l 2,000
= 1,600
Al 200
T 200
03 &AL S HI 3,000 3,000 0
OEHAERE g28A 29 3,000
= 2,400
Al 300
T 300
202 O4dl 11,840 12,840 A1,000
= 9,472
Al 1,184
- 1,184
01 = LH o4 1l 11,840 12,840 A 1,000
OEEAEE Z2uE =Z 0 11,840
= 9,472
Al 1,184
T 1,184
203 YR =2t 2,400 2,400 0
= 1,920
Al 240
- 240
03 A=A H =AY 2,400 2,400 0
OEHAEE 2tE3l & AMMFAH| 2,400
= 1,920
Al 240
T 240
301 YerE X 8,000 13,920 £5,920
2 6,400
Al 800
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SN &R

BH: HANE O 25
9l XIGASl O ol AME T4 CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
- 800
09 HALAHIX RS 3,000 3,000 0
OEEARE Z208 FOWA Al 3,000
= 2,400
Al 300
- 300
12 JIEtE& = 5,000 10,920 25,920
OLEEAERE Z208 2 Al 5,000
= 4,000
Al 500
T 500
307 glz2+ol & 5,500 5,500 0
= 4,400
Al 550
T 550
11T MISRASEX 5,500 5,500 0
O=8J|a =278 23 XA 5,500
= 4,400
Al 550
- 550
405 XtAtE SHI 2,500 2,500 0
= 2,000
Al 250
- 250
01 AR ESFH S 2,500 2,500 0
OMEE HS & 3FH 7& 2,500
= 2,000
Al 250
T 250
Ots+=¢ 10,399, 160 8,992,301 1,406,859
= 8,319,328
Al 1,455,882
T 623,950
301 LEEAZ 10,399, 160 8,992,301 1,406,859
= 8,319,328
Al 1,455,882
- 623,950
01 MEIBZE 06z 10,399, 160 8,992,301 1,406,859
O0ts=+¢ 10,399, 160
= 8,319,328
Al 1,455,882
- 623,950
Ots=% At 29l 2,424 2,427 A3
= 1,697
Al 727
201 et 2,424 2,427 A3
= 1,697
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AR GRS =

M HAHES Ot BS
SRl XAIE OlS Ol AHE =4 (29 a8)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2

Al 27

01 At 22l 2,424 2,427 A3
O0ts==% 2t 29| 2,424
= 1,697
Al 727

NEotsdE SAX SXEUAE X 3,100 0 3,100
Al 3,100

307 21201 A 3,100 0 3,100
Al 3,100

10 M SXNANEHE2ZHEX 3,100 0 3,100
O XNE0tsHE SALA SXIEQE X& 3,100
Al 3,100

ANEotsdEH S XN (AE) 15,000 0 15,000
= 7.500
Al 7,500

201 £B-2%H| 15,000 0 15,000
= 7,500
Al 7,500

01 At 2t 2| I 15,000 0 15,000
OXYolsdE 2I8FI| XA (ME) 15,000
= 7,500
Al 7,500

Ots=EXAE 22 XA 5,333,462 5,360,407 N 26,945
= 489,128
| 106,360
Al 4,736,994
T 980

MAS0(0LS) 533,333 533,333 0
= 480,000
Al 53,333

301 LBEAZ 533,333 533,333 0
= 480,000
Al 53,333

01 M EEH 262 533,333 533,333 0
OO0tSAIE HASH 533,333
= 480,000
Al 53,333

OtSAIE2gHl & SAX Q2] 4,368,026 4,408,026 240,000
Al 4,368,026

307 21201 A 4,368,026 4,408,026 A 40,000
Al 4,368,026

10 ALSISXAIEEER2IHEX 4,368,026 4,408,026 240,000
OOts=XNAE 24 L SALAL2AH| 4,368,026
Al 4,368,026

OtsAld AIHIAI& 101,000 101,000 0
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L ECEE
Ha: F o
Sl OS = XA

& 2gn (B9 ®R)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2

Al 101,000

307 QI2t0| ™ 101,000 101,000 0
Al 101,000

11 M SAAFEE X 101,000 101,000 0
OAMHEOtS #=3sH0 &H| 3,000
Al 3,000
OYOotAlAE JI M AT 2,000
Al 2,000
OAl&0tEs nEd X& 32,000
Al 32,000
OAlI&0ts dtAI ==&t 6,000
Al 6,000
OANMHEOS 8= 40,000
Al 40,000
Ost&2 X 14,000
Al 14,000
O&aleld M Xl 2| 4,000
Al 4,000

LESOs I8E &9 86,250 82,335 3,915
Dl 34,500
Al 51,750

307 QI2t0| & 86,250 82,335 3,915
Dl 34,500
Al 51,750

10 Al SXAIEEE2IHIBX 86,250 82,335 3,915
OZ=sMEII¥(OEE) 29X g 86,250
Il 34,500
Al 51,750

SSMEIIE SALN EXxE 6,000 15,000 A9,000
Al 6,000

307 212t0| & 6,000 15,000 A9,000
Al 6,000

10 AIRISEXAIEEHAE2IGHIEX 6,000 15,000 29,000
OZ2SMEINAE ESAXA EX=E X 6,000
Al 6,000

SSMEIIE BE50ls XN&E 8,640 7,140 1,500
Al 8,640

307 QI2t0| ™ 8,640 7,140 1,500
Al 8,640

10 Al SXAIEEE2IHIEX 8,640 7,140 1,500
O=2sMEIE Bs0ls K& 8,640
Al 8,640

OlsAlE otdzZte] - 8HINA K& 20,000 10,965 9,035
Al 20,000
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L ECEE
Ha: F o
Sl OS = XA

& 2gn (B9 ®R)
SA - BB B () - MM - BES Ol &t o San HmEET
307 glz2tol & 20,000 10,965 9,035
Al 20,000
10 AL SXAIEEE2EHEX 20,000 10,965 9,035
OO0tsAlE otd2tel &ZHLH K& 20,000
Al 20,000
SSHEIIE et 2eldl XA 900 0 900
Al 900
307 glz2+ol & 900 0 900
Al 900
10 ALSISXAIEEE2EHEX 900 0 900
Ossdaind ctazeldl X2 900
Al 900
stimioiots & e &I, Addl, AFZH 179,650 188,588 A 8,938
J| 71,860
Al 107,790
307 21201 A 179,650 188,588 A 8,938
J| 71,860
Al 107,790
10 ALSISXAIEEER2IHEX 179,650 188,588 A 8,938
Osthuloiotsa e 2L K& 179,650
J| 71,860
Al 107,790
StHOIoHOts&EEH SAX SX==& 9,063 0 9,063
Al 9,063
307 glz2tol & 9,063 0 9,063
Al 9,063
10 AL SXAIEEE 2 H EX 9,063 0 9,063
Ostimoliots&EE SMAT =X+E X 9,063
Al 9,063
Sti{OloiolsdH AXSHH XA 6,580 0 6,580
Al 6,580
307 glz2+ol & 6,580 0 6,580
Al 6,580
10 ALSISXAIEEE2EHEX 6,580 0 6,580
Osuoiotsdy &84 N& 6,580
Al 6,580
ots=sXdods 29 980 980 0
201 Let24d] 980 980 0
01 At 2teltl 980 980 0
O0ts=XaAR3E 3o F&E
70,0003 72X »23] 980
ZAHEXNs0ts N 13,040 13,040 0
= 9,128
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AN &8Iz
HEM: FAHS 0l 25
2 OlIs=E2XAIE 29X (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Al 3,912
307 2iz2to| A 13,040 13,040 0
= 9,128
Al 3,912
10 MM SAANEEHESIGHEX 13,040 13,040 0
OZ3AHHN Xsols NEXH 13,040
= 9,128
Al 3,912
HAE Bs 2 4 243,692 250,698 AT7,006
= 31,808
J| 91,286
Al 77,554
2 43,044
HAaE 21X 243,692 250,698 AT7,006
= 31,808
J| 91,286
Al 77,554
2 43,044
HAUEES 10,190 14,650 N4 460
201 2Et2Ay| 10,190 14,650 N4, 460
01 AP 22| d| 10,190 14,650 A4 460
OFAadEEs &3 5,200
O THAESHAR/S] ) 3o E AL
70,000 *9H *13] 630
O TXNEMIBATESRNIAH 2HEAKS
3o &AM G 70,000& 10 x23| 1,400
O st ZA XA F,; 3o &M
70,000 14 x23| 1,960
Ostn=Z= e 222 M 1,000
-s4£9 NI, EE2ES28 S
1,000 *1,0004 1,000
HAEFWMHEE 2AE X2 3,000 2,800 200
= 1,500
Al 1,500
307 2iz2to| A 3,000 2,800 200
= 1,500
Al 1,500
02 QIZHA AAIE E X 3,000 2,800 200
OFAEKMNEHZAIL S HXH 3,000
= 1,500
Al 1,500
HAiaE 228 29 14,000 14,000 0
Al 7,000
5 7,000
307 QI2t0| & 14,000 14,000 0
Al 7,000
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AN GEIEY
Hm: HAW 25 U 84
ool HAW =X CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
- 7,000
10 ALSISXAIEEE 22X 11,200 11,200 0
OFAEESRY 2¢ 11,200
Al 5,600
- 5,600
11T ALS S XAHEE = 2,800 2,800 0
OFAEZRY T2 AL 2,800
Al 1,400
T 1,400
MEXH ALXNES 3424 SEEXE 8,000 9,000 A1,000
J| 5,600
Al 2,400
301 LEXZ 7,800 8,800 A1,000
Jl 5,600
Al 2,200
01 MEI2ZE 406z 7,800 8,800 21,000
OMETH HLXNAS F2EUSENH 7,800
J| 5,600
Al 2,200
307 21201 A 200 200 0
Al 200
11T MISXASEX 200 200 0
Odela dLNNEs F2ESETE A&
| 200
Al 200
stn 8 HAad X2AY 83,716 82,060 1,656
J| 58,601
Al 25,115
307 21201 A 83,716 82,060 1,656
J| 58,601
Al 25,115
05 RIZt2IE = 83,716 82,060 1,656
O % Fad XNF A 83,716
Jl| 58,601
Al 25,115
FAHENHARAS 2EXE 2,800 2,800 0
= 1,400
- 1,400
307 21201 A 2,800 2,800 0
= 1,400
- 1,400
05 BIZERI & 3 2,800 2,800 0
OFATENWARZE 22 2,800
= 1,400
T 1,400
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SN 8IS
XM HAH
e R PNE

SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
HAalE ALK SAS 57,816 71,440 N 13,624
= 28,908
Al 14,454
=) 14,454
301 et A= 57,816 71,440 N 13,624
= 28,908
Al 14,454
=) 14,454
01 AR E & A 462 57,816 71,440 N 13,624
OFAHE AHAXSAY 57,816
= 28,908
Al 14,454
2 14,454
Had gEXNIAANE 29 I 54,170 51,948 2,222
J| 27,085
Al 27,085
307 QI2t0| ™ 54,170 51,948 2,222
J| 27,085
Al 27,085
10 MM SAANEEESIHEX 54,170 51,948 2,222
OFA~4E KNI ANE 29 NS 54,170
J| 27,085
Al 27,085
Ha4d o280 29 X 10,000 0 10,000
307 2I2t0| & 10,000 0 10,000
11 Al EXAIEEX 10,000 0 10,000
OFAE o220y 29 (=02 0l 4H) 10,000
HHMSHAY (A=) 284,060 270,385 13,675
= 113,993
Al 26,801
- 143,266
ol 2HH| 184,732 173,445 11,287
= 113,993
Al 26,801
- 43,938
FUHS OlssSEAMH A X 146,941 142,278 4,663
= 99,648
Al 12,456
- 34,837
101 124 4| 146,941 142,278 4,663
= 99,648
Al 12,456
- 34,837
03 RIAHE*ZZXHE = 146,941 142,278 4,663
OO0t A2 22l AF Q1 24HI(49) 146,941
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2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET
-Jl2s 124,560
= 99,648
Al 12,456
T 12,456
- ZUSAH & M=% 183,000& 128 4 8,784
- ZE S| 7,126
U PNE= i E =) 5,511
—-Uetsty X33 600
-HEds ¥ =X dsUsE X2 360
OtS=XI WAt OtA 37,791 31,167 6,624
= 14,345
Al 14,345
- 9,101
101 1A Hl 37,791 31,167 6,624
= 14,345
Al 14,345
- 9,101
03 RIAHAZ 2N E =+ 37,791 31,167 6,624
OOtS =X WAHX LA S XA 18) 21 24H] 30,055
= 14,345
Al 14,345
T 1,365
O A A 1,560
OP == 720
OZEFOHI 1,754
Oduad= 1,055
OSSR/ 1,357
OLxZEHN=sUa XA 30,000& x13] 30
Ootetial X 30,000 »23| 60
OX<SALE =X AL EF 044 1,200
2l 99,328 96,940 2,388
224l 99,328 96,940 2,388
201 Let2d] 18,728 18,220 508
01 At 22l 18,728 18,220 508
O=AEX = 20,0003 70 A 1,400
OEUW & &8 ¢ 3,720
== 132,000& *2CH *53] 1,320
- ZHIOZEE El 150,000 & *2CH x4 48 23| 2,400
ORAN2EII 28t 10,0002 218 «12& 2,520
OAIZAZ I S A
8,000& *5.541+21H 128 11,088
202 04l 70,560 73,920 A 3,360
01 = LH Yl 70,560 73,920 A 3,360




SA: GEIED
M NS (KIS

oo oo

¢l =gl (chel & 9l)
SA - BB B () - MM - BES Ol &t o San HmEET

O2tLH o HI 280,000&*21H x12& 70,560

203 YR =2l 4,800 4,800 0

04 FN2IELSFZ=AH 4,800 4,800 0
ORANE2Y R4 4,800
—30210loH(=2 A 5HIEs) 400,0009 x12€ 4,800

405 RHoHE S HI 5,240 0 5,240

01 AL EZFH S 5,240 0 5,240
O==2X WH 240,000 =144 3,360
OMEA TV 7L 600,000& »1CH 600
O3J1838I #+¢ 640,000 2K 1,280
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